Ariadne: Resources for Athenaze
Oral Script for Chapter 3a

Role Play

1. The child gives a command (left column) and the unsympathetic parent
responds, “It is not possible to J

Child:

K&OWe

Adppave to BLBAtov

aipe 0 BPpAlov
avaytyvwoke to Bi3Atov
déoe 10 BLPAlov

KA&AeL tov Gidov/tnv GiAny
PAEme TEOG TOV Pidov/Tr Vv GiAny
aye tov GlAov/thv GiAnv
Bddle €k TOUL OikoL

HEVE €V TQ OlKW
TIQOOXWQEL HOL (Bax)
Tiinte €k Tov dEVOQOUL

Parent: o0 dVvatov éotl + infinitive

Example: o0 dVvvatov éott kaOilewv.

TOVEL

Aetmte (3B) TO &dpoTEoV
Ave (3) Tovg Boug
K&Oevde

2. The child says the s/he wishes to do something and the unsympathetic parent

responds, “It is not possible to . Use the verbs above.
Pattern:
Child: £€0¢éAw + infinitive Parent: ov dVvVaTOV €0TL

Example: ¢0éAw kaOiCetv Example: o0 dUvatdv éott kaOillewv.



3. A sympathetic parent asks the child, “Do you wish to ?” Now the child

responds “I do (not) want to . Use the verbs above.
Pattern:
Parent: &o” é0¢éAeic + infinitive? Child: (ovk) €é0€éAw + infinitive.

Example: &o” ¢0éAeic movety; Example: ovk €0éAw movelv.



